
ï 4 At 500 tteit zt 250 farft 2 108734 47599 . 

= 108700-47600 = 61,100 

Ff52a = 108734 108730 

47599= 47600 ti =4 t 500 ftei = 4500 frt 
freTa fta = 250 faet 

freTT HeI = 4500 + 250 = 18 

108734-47599 
108730-47600 = 61,130 

()8325 -491 
: ar T 8325 = 8300 Ta 1.3 

491 500

8325 491 = 8300 -500 7,800 

TfTea = 8325 = 8330 
491 = 490 a) 730+998 

&:730 = 700. 1000 700 1700 8325 491 = 8330- 490 

998 1000 
b)796-314
EM: 796 800 

= 7,840 

(d) 489348 48365 

:T ar r 489348 = 489300 
48365 48400 

314 300 
48934848365

489300-48400= 4,40,900 

4 75 Hf6ea =489348 = 489350 

800 300 = 500 

12,904 + 28888 

: 12,904 13000 48365 48370 
2888 3000 489348-48365

13000+3000 = 16000 489350-48370= 4,40,980 . 

(d) 28292-21496 

T:28292 28000 
21496 21000 

28000-21000 7000 (a) 578x 161 
T 578 Hfe = 600 

161H6 = 200 
1: 3f TAT = 600 x 200= 1,20,000 
p) 528kx 3491 
: 5281 afTZ = 5000 

3491. af-T4e = 3000 
4:ATMa. Tuay = 5000 x 3000 

2. 

(a) 439+ 334 + 4317 
B: 2 at Tt = 439 = 400 

334 300 

4317 4300 

439+334+4317
= 1,50,00,000400 +300+ 4300 

5000 C1291 x 592 
A: 1291 H-a1300 

7 7 Hf-6A = 439 440 
592 af-Az =t00 
34: 31-5fea TUA =1300 x 600 

334 330 

4317 4320 

439+ 334 + 4317 
= 440+ 330 +4320 

7.80,000 (d) 9250 x 29 
9250 Hz = 9000 

29 HHE = 30 
5090 

b) 108734- 47599 
:Hte ar n = 108734 = 108700 

47599 47600 = 9000 x 30 27009o 
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